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1. Find the radian measures corresponding to the following degree
measures:

(i) 25° (ii) — 47° 30' (iii) 240° (iv) 520°
Solution:
(i) 25°

Here 180° = radian
It can be written as

250 = 25 radian
80

S0 we get

= 5—“ radian

(ii) — 47° 30'
Here 17 = a0
It can be written as

_47° 30 = _4?% degree

So we get
-95
=—" degree
2
Here 180° = 1 radian
95 n (95 :
deg ree = ——x=| —— | radian
180 | 2

It can be v_crittanas
19 Y ~19

:[ ! JTE radian = ! m radian
36 = 72

We get

o -19 .
—47% 3 = ——m radian
72



(111) 240°

Here 180° = 1 radian

Tt can be written as

240° = —" 240 radian
180

S0 we get

=—7 radian
3

(iv) 520°

Here 180° = 1 radian
It can be written as

520° = — x 520 radian
180

So we get

26 .
_=0n radian
9

2. Find the degree measures corresponding to the following radian measures
(Use mt = 22/7)

(i) 11/16

(ii) -4

(i) 51/3

(iv) 7n/6

Solution:

(i)11/16

Here 1t radian = 180°



11 . 180 11
— r':ldiill‘l=—><E degree

We can write 1if as
4511
I |

degree

S0 we get
=R b

701 deg ree

= £ degree

3
=39= degree
b

Take 1° =607

3 .
=394 i min utes
We get

-~ I =
=397 422+ 5 min utes

Consider 1° = 60°
= 390 227 307



